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n the two triangles are congruent
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Using the SSS= Theorem

Geometry 5.5 Notes: Side-Side-Side I'riangle Congruence / HL

| Side-Side-Side Congruence Theorem ( SOS &

ﬁT : . ' Jile 2 ™ : > " "
ﬂ ‘}uee sides of one triangle are congruent to three sides of a second triangle.

I'riangle Congruence

)

L. Write a two-column proof. 5:
Given: KL=NL. KM =NM K N
Prove: AKLM = ANLM s
! _Statements | Reasons
. KL =N |. GIVEN
KM & NM

2 AKLME ANCLM

2. Determine ){Qether tl/lg\congruence statement 1s_true. Explain your reasoning.
. ADFG = AHJK b. AACE = ACAD
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YES BY NS =

3.9S8

X BUT AGQPTZARTS
DOES NOT WORK .

LETTER ORDER

MATTERS -

You know that SAS= and SSS2 are valid methods for proving that triangles are congruent. What about SSA=?

N GENERAL , SSA 2 Does NOT WORK .




» SNA = 19 alid i N TR AN : '
¢ SHAZ 18 not valid i g!.,llt‘lul. there 18, & spcvml case lor
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ypotenuse-Leg Congruence Theorem ( HL \ or Re5 & r

A
the hypotenuse and a lcg of a right triangle are congruent to the
“_ rotenuse and a leg of the second right triangle, then the two triangles
! ATC congruent, i
| Hint: Think “90°-Side-Side” or

Right-Side-Side” ¢ B

Using HL =

W X. W : £
3. (Ei\'en:W?Eﬁ.Wlf?,Wlﬁ m
Prove: AWYZ = AXZY ya Y = Y
Z J Y

_Statemer_l_ts 5 — — - (1" Reasons
. WY EXE l . GINEN
wz L 2ZY
XY LZY |
- RT. L
2. LWNZN ISA eT. L 2.1 L =2 R

3. IF BT L INA A=SRT.A

— Y REFL.PROP. &
H. ZY = 2% :
5. AWYE & AXZY = ‘HL%E (or RAS =)

4. Given: The diagram below
Prove: AABC = ADCB

B Statements | Reasons

. AC & BD |. GIVEN ( DIAGRAM)

ZABC 1S A RT. £
LBCD 1S A RT.L

C D d. AARC 15 A RT. b d.IF RT.L 1IN A&T, A
ABCD 1SA RTA
3. BC 2BC . REFL. PRop. &

H, AABC % ADCR tHL® (or B2 %)
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